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Algebraic disparities Expresses associated with symbols <, zIt;, =, and qgt., such as x=2, reads x more or equals 2. This inequality has an infinite number of solutions for x. Some of the solutions are 2, 3, 3,5, 5, 20 and 20,001. Because you can't list all the solutions, you need a system that allows you to communicate clearly with this endless set. Two common ways of expressing
solutions to inequality are on a graph on a number of lines addressing algebraic inequality, expressed by shading the solution on the numerical line. and using interval notation textual system of expression of solutions to algebraic inequality. To express a solution graphically, draw a numerical line and shadow in all the values that are solutions to inequality. Interval notation is
textual and uses a specific notation as follows: Identify interval notation after the resolution graph set on the number line. Numbers in interval notation should be written in the same order as the number line, and smaller numbers must first appear in the set. In this example, there is an inclusive inequality of inequality that includes a boundary point, a point indicated or equal by part
of the symbols of the < and =, and a closed point on the line of the number., which means that the lower boundary 2 is included in the solution. Denote this with a closed point on the number line and a square bracket in the interval notation. The symbol () reads like an infinity Symbol () indicates that the interval is not tied on the right. and indicates that the set is not tied on the
right to the number line. Interval notation requires a brace to fence the infinity. The square bracket indicates that the boundary is included in the solution. The brackets indicate that the border is not on. Infinity is the upper limit to real numbers, but in itself is not a real number: it cannot be included in the set of solutions. Now compare the interval notation in the previous example
with the strict or non-impact inequality that follows: Strict InequalityExpress orders relationships using the symbol of the zlt; for less, and qgt; for more than that. means that the solutions can get very close to the point of the border, in this case 2, but don't really include it. Denote this idea with an open dot on the number line and round brackets in interval notation. lllustration 1:
Graph and give the equivalent of interval notation: x'lt;3. Solution: Use an open point at 3 and shadow all real numbers strictly less than 3. Use the negative Infinity Symbol (o) indicates that the interval is not tied on the left. («) to indicate that the set of solutions is not tied on the left to the number line. Answer: Interval notation: (e, 3) Example 2: Graph and give the equivalent of
interval notation: x<5. Solution: Use a closed point and shade all numbers less than 5. Answer: (e, 5 It is important to see that 5=x is the same as x<5. Both require that x values be less or equal to 5 ». To avoid confusion, it is good practice to rewrite all inequalities with a variable on the left. to which the word and or word or word has joined. Complex inequalities with logical or
require that either condition must be satisfied. Thus, a set of solutions to this kind of complex inequality consists of all the elements of addressing the sets of each inequality. When we join these individual sets of solutions, it's called unionThe set, shaped by attaching to individual sets of solutions that are logically used by the word or and labeled U u=. In the case where composite
inequality contains a word or, we combine all elements of both sets to create one set containing all the elements of each. lllustration 3: Graph and give the equivalent of interval notation: x<-1 or x'It;3. Solution: Combine all decisions of both inequalities. Solutions for each inequality are sketched over the numerical line as a means of determining the union that is on the graph on the
number line below. Answer: Interval notation: (e, 3) Any real number of less than 3 in a shaded region on the No. lllustration 4: Graph and give the equivalent of interval notation: x'lt;3 or x=-1. Solution: Both sets of solutions on the chart above the union, which is on the graph below. Answer: Interval Notation: R q (o, c) When you combine both sets of solutions and form a union,
you can see that all real numbers satisfy the initial inequality of the connection. Thus, and inequality, such as it says: No. 1 one is less or equal to x and x less than three. This exacerbates inequality because it can be decomposed as follows: logical and requires both conditions to be correct. Both inequalities are met by all elements in the intersectionin a set formed by the common
values of individual sets of decisions, indicates the logical use of the word and the symbol of the n ., denoted by the n, the sets of solutions of each of them. lllustration 5: Graph and give the equivalent of interval notation: x'It;3 and x=-1. Solution: Identify the intersection or overlap of two sets of solutions. Solutions for each inequality are sketched out higher the numerical line as a
means of determining the intersection, which is on the graph on the number line below. Here x'3 is not a solution because it solves only one of the inequalities. Answer: Interval notation: No.1, 3) Alternatively, we can interpret No.1<x'lt;3 as all possible x values between or are limited to Nos. 1 and 3 on the numerical line. For example, x-1 is one such solution. Please note that 1 is
between Nos. 1 and 3 on the number row, or that No.1 is 1 zlIt; 3. Similarly, we see that other possible solutions: No.1, 0.99, 0, 0.0056, 1.8 and 2.99. Since there are infinitely many real numbers between Nos. 1 and 3, we have to express the solution graphically and/or with interval notation, in this case No. 1, 3). lllustration 6: Graph and give the equivalent of interval notation: 32
zIt;x'It;2. Solution: Shadow all real numbers are limited, or strictly between them, 32 112 and 2. Answer: Interval notation: (No32, 2) Example 7: Graph and give the equivalent of interval notation: 5'lt;x<15. Solution: Shade all real numbers between 5 and 15, and indicate that the upper limit, 15, is included in the solution set by a closed point. Answer: Interval notation: (5, 15) In the
two previous examples, we do not decompose inequality; instead we decided to think about all the real numbers between the two boundary data. Thus, in this text we use interval notation. However, other resources you are likely to encounter use an alternative method to describe sets called set-builder notationA to describe sets using familiar mathematical notation. We used a set
of designations to list items such as integers brackets group elements of the set and ellipsis marks indicating that integers continue forever. In this section, we would like to describe intervals of real numbers, such as real numbers, large or equal to 2. Because the set is too large to list, the set-builder's notation allows us to describe it using familiar mathematical notations. Example
set-builder notation as follows: Here X&€R describes the type of number where the symbol (€) reads the item. This means that the x variable is the real number. The vertical bar (k) reads as such. Finally, approval x=2 is a condition that describes a set using mathematical notation. At this point in our algebra study, it is assumed that all variables represent real figures. For this
reason, you can omit €R and write x'x=2, which reads a set of all real x numbers in a way that x more than or equals 2. To describe complex inequalities, such as x'It;3 or x=6, write x'lt;3 or x=6 which reads as a set of all real x numbers in such a way that x is less than 3 or x more or equals 6. Write limited intervals, such as 1<x'lt;3, as which reads set all the real numbers x in a way
that x x x yem unu pasHa No 1 1 meHee 3 . KntoyeBble BbiHOC HepaBeHCTBO 0ObIYHO MMEKOT HECKOHEYHO MHOTO peLleHuid, Tak YTO BMEeCTO NpeLCcTaB/ieHNs HEBO3MOXHO 60/bLLUOIA CANCOK, Mbl NpeACcTaBnsem Takme pelleHns Habopbl 60 rpadinyeckn Ha YUCNOBYIO CTPOKY UM TEKCTOBO C NOMOLLbIO MHTEPBa/IbHOM HOTauumn. VIHKMI03MBHOE HEPABEHCTBO C KOMMOHEHTOM U PaBHbIM
YKa3bIBAETCS C 3aKPbITON TOUKOM Ha IMHUK YACA U C KBaAPATHOM KPOHLITENHOM C MCMO/Ib30BAHUEM MHTEPBaJIbHOI HOTaummn. CTporoe HepaBeHCTBO 6€3 KOMMOHEHTA /TN PaBHOE YKa3bIBAETCS C OTKPLITOV TOUYKOIN Ha SIMHUM YMC/Ia 1 CKOBKaMy C UCMOMb30BaHWEM MHTEPBa/IbHOW HoTaumn. CrioXHble HEPaBEHCTBA, KOTOpble UCMOJ/b3YHOT JIOTMYECKUE UM PELLAKOTCS peLleHnsMur
no6oro HepaseHcTBa. Habop pelueHnii — 370 06beANHEHNE KaxkA0ro OTAebHOro Habopa pelleHuii. CNoXHble HepaBeHCTBa, KOTOpPble UCMO/b3YHOT 0rMYeckoe u TpebytoT, UToObl BCe HepaBeHCTBa OblNN peLleHbl O4HUM pelleHneM. Habop peLleHunii — 3To nepeceyeHmne Kaxkaoro oTAe/1bHOro Habopa pelleHuidi. CnoxHble HepaseHcTBa hopMbl n &lt;&gt; &lt;m can= be=
decomposed= into= two= inequalities= using= the= logical= “and.” = however,= it= is= just= as= valid= to= consider= the= argument= a= to= be= bounded= between= the= values= n= and= m.= part= a:= simple= inequalities= graph= all= solutions= on= a= number= line= and= provide= the= corresponding= interval= notation.= 1.= x<10= 2.= x=&gt;No5 3. x&gt;0 4. x<0 5. x<-3 6.
x=-1 7. No4 &lt;x 8.= 1=>x= 9.=&gt;&lt;/x&gt; &lt;—12 10.= x>—-32= 11.= x=-134= 12.=&gt;&lt;/-12&gt; &It;34 part= b:= compound= inequalities= graph= all= solutions= on= a= number= line= and= give= the= corresponding= interval= notation.= 13.=&gt;&It;/34&gt; &lt;&gt; &It;5 14.= —5<x<-1= 15.=&gt;&lt;/5&gt; &It;x<20 16.=&gt;&It;/x<20&gt; &lt;15 17.=&gt;&lt;/15&gt; &It;x<40
18.=&gt;&lt;/x<40&gt; &It;-10 19.=&gt;&lt;/-10&gt; &lt;x <50 20.=&gt;&lt;/x <50&gt; &lt;&gt; &It;0 21.=&gt;&lt;/0&gt; &lt;&gt; &lt;18 22.= —34<x<12= 23.=&gt;&lt;/18&gt; &lt;112 24.=&gt;&It;/112&gt; &lt;&gt; &It;—12 25.=&gt;&It;/-12&gt; &It;—3 or x&gt;3 26.&It;—2 or x=4 27.= x<0 or x=&gt;x 10 28. x<<20 unun x== 10 29. x&It;—23 or x&gt;13 30. x<'43 nnm x&gt;'13 31. x&gt;-5 nam &lIt;5
32.=&gt;&lt;/5&gt; &lt;12 or x&gt;x 6 33.&It;3 or x=3 34.= x<0 or x=&gt;x 0 35. &lt;&gt; &It;2 36.= x=—-3 or x=&gt;x 0 37. x=5 nnn x&gt;0 38. x&It;15 or x<10 39.= x=&gt;N02 u x &lt;3 40.=&gt;&It;/3&gt; &It;5 41.= x=>-5 and x<-1= 42.=&gt;&It;/5&gt; &lt;—4 and x&gt;2 43. x< 3 1 x&gt;3 44. x<5 n x=5 45. x<0 1 x=0 46. x 0 n&lt;2 and x<-1 47.= x=&gt;x='1 48. x &lt;&gt; &lt;2 Part C: Interval
Notation Determine the inequality given the answers expressed in interval notation. 49. (—co, 7] 50. (=4, ) 51. [-12, ) 52. (=, =3) 53. (-8, 10] 54. (=20, 0] 55. (=14, -2) 56. [23, 43] 57. (-34, 12) 58. (=0, —8) 59. (8, ) 60. (=, 4)U[8, ) 61. (-0, —2]U[0, ) 62. (=00, =5]U(5, ) 63. (=0, 0)U(2, ) 64. (-0, —15)U(-5, ) Write an equivalent inequality. part= c:= interval= notation=
determine= the= inequality= given= the= expressed= in= interval= notation.= 49.= (oo, 7]= 50.= (-4, o)=51.= [-12, )= 52.= (-0, —3)= 53.= (-8, 10]= 54.= (=20, 0]= 55.= (-14, -2)= 56.= [23, 43]= 57.= (-34, 12)= 58.= (-, —8)= 59.= (8, )= 60.= (=0, 4)U[8, )= 61.= (=00, —2]U[0, c0)= 62.= (—00, =5]U(5, c0)= 63.= (=0, 0)U(2, )= 64.= (=00, —=15)U(-5, )= write= an= equivalent=
inequality.=&gt;&It;/2 Part C: Interval Notation Determine the inequality given the answers expressed in interval notation. 49. (-0, 7] 50. (-4, ©) 51. [-12, ) 52. (=, =3) 53. (-8, 10] 54. (=20, 0] 55. (-14, -2) 56. [23, 43] 57. (—34, 12) 58. (-, —8) 59. (8, ®) 60. (-, 4)U[8, ©) 61. (—c0, —2]U[0, ) 62. (o0, =5]U(5, ®) 63. (-, 0)U(2, ®) 64. (o, —15)U(-5, ) Write an equivalent
inequality. &gt; &It;/2 and x<-1&gt; &lt;/-4 and x&gt; &It;/15 or x<10&gt; &lt;/2&gt; &lt;/3 or x=3&gt; &lt;/12 or x&gt; &It;/-23 or x&gt; &lt;/-2 or x=4&gt; &It;/-3 or x&gt; &lt;/m&gt; &lt;/m&gt; All real figures are less than 27. All real figures are less or zero. All real figures are more than 5. All real figures are higher or equal to the 8th digit. 69. All real figures are strictly between Nos. 6
and 6. 70. All real figures are strictly between 80 and 0. Part D: Topics of discussion council 71. Compare interval notation with set-builder notation. Share an example of the set described with both systems. 72. Explain why we do not use the bracket in interval notation when infinity is the end point. Research and discussion of various complex inequalities, especially trade unions
and intersections. 74. Exploring and discussing the history of infinity. 75. Study and discussion of Georg Cantor's contribution. 76. What is the Venn chart? Explain and you can give an example. 1: (-0, 10] 3: (0, ) 5: (=0, =3] 7: (=4, ©) 9: (-0, =12) 11: [-134, ) 13: (-2, 5) 15: (-5, 20] 17: (10, 40] 19: (0, 50] 21: (=58, 18) 23: [-1, 112) 25: (=, =3)U(3, o) 27: (-, 0]U(10, ) 29:
(=00, =23)U(13, ) 31: R 33: R 35: (-, 2) 37: (0, ) 39: (-2, 3) 41: [-5, —1] 43: @ 45: {0} 47: (0, =) 49: x<7 51: x=-12 53: -8 &lt;x<10 55:=&gt;&lt;/x<10&gt; &lt;&gt; &It;—2 57:=&gt;&It;/-2&gt; &It;&gt; &lt;12 59:= x=&0gt;8 61: x<—2 or x=0 63: x&It;0 or x&gt;2 65: x&It;27 67 := x=&gt;5 69: —6 &lt;&gt; &It;6&gt;&lt;/6&0t; &lt;&gt; &It;6 &gt;&lt;/6 &at; &lt;/27&gt; &lt;/0 or x&gt; &lt;/12&4gt;
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